[SE:] R6 4 2 A 21 H
K & |1H|2H|3H|4H | 5H | 6H | 7H | 8H |=4T =3 K & |1H|2H|3H|4H | 5H | 6H | 7H | 8H |=4T B & =|/MEH
21412132 2]|4 21 413|213 2|3]3 17
Ak @ 20 17 Ak 22 3| 22
2|1 6| 8[11]|13]15]19]20 21 6] 9|11 |14]16]|19] 22 39
5141432 3|3]2 3132|234 2]2 26
R 26 26 RIS 21 4 | 21
51 91316 18] 21|24 26 31 6] 8|10]13]17]19] 21 47
. 3141332 3|3]3 . 31 34|23 4|3]3 24
HE 24 24 e 25 1|25
3| 710[13]|15] 18] 21| 24 31 61012 15]19]|22] 25 49
K & |1H|2H|3H|4H | 5H | 6H | 7H | 8H |=4T B/ a|/ME K & |1H|2H|3H|4H | 5H | 6H | 7H | 8H |=4T B |& =& 5HIERL
2121332 3|3]2 39 3133|224 |3]3 59
Ak 20 20 Ak 23 2 | 23 Q)
2 | 4 1012 15] 18| 20 59 3|6 1113 17|20 23 82
3| 3 31 3] 2|3]3 47 3144|213 2|4]3 71
R 24 24 R 25 2 | 25 ®
3| 6 |10[13]|16] 18] 21| 24 71 3 7|11 |13]16]18]|22] 25 96
. 3| 4 2131 3(3] 2 49 . 2|5 2133|212 71
HE 22 22 HE 22 4 | 22 ®
3| 7 1114 17|20 22 71 2 7110|1215 18|20 22 93




